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L. The worq - B-2
(A) feaf o:];!:l:iimph“hi“‘ means 7. Fillinthe bla
dikness
(B) fear of crowds HCPTE'sidEd
(C) fear of confined Spaces Jl’:: :: -
O fear of waer (C) in
(D) for

8. The idiomai
meet’ means

2. The past te

nse of rewind is

(A) rewinded

(A) get by
(B) rewounded (Bj get ov
(C) rewound (C) éer da
(D) None of the above (D) getw

9. Fillinthe t

3. The synonym of supercilious is She __
e the back-gate.
(A) officious

N (A) boarc
\ (B) superficial

| @B) ste

:’I (C) delicious : ) PF

X (D) haughty (C) mowi
S (D) aligh

10. The expre
4. Select the correct spelling:

(A) pure
(A) Accommodition (B) relig
(B) Accommodation (C) mor
(C) Accomodation (D) san

W) Acommodation
11. Chooset

Whilel _
5. Choose the right word for love of oneself. threw a ball th
(A) Hedonism (A) wa
(B) Masochism (B) wa
(C) Narcissism (©) ha
(D) Sadism ©)iau
12. Theser¢
Replace

6. To feel ‘under the weather’ means word.
(A) feel depressed (A) N
(B) feel uncomfortable B) C
(C) feel unwell O Is

(D) feel uncertain D) §




1eself.

B-2

7. I'I“Illlhl’h].'l.lll.\\.llhllu--1:.1,.'1!!'|1|r[n--.|1lllli
He presided the meeting
JA) over
(3) al
(C) n
(D) fon
fon make ! th end

8. The idiomatic ¢ Xpre
meel’ means
(A) get by
(B) gel OVEl
Llhi }jl‘l done
l‘}'l ;‘rl \li‘“
with the cuitable option:

9. Fill in the blank
he bus and walked 1o

She from 1
the back-gate.

(A) boarded

@) stepped

(C) moved

(D) alighted

ssion ‘holier than thou’ means

10. The expr€
(A) pure
(B) religious
(C) moralistic
(D) sanctimonious

11. Choose the right option:
While I in the library, someone

threw a ball through the window.
(A) was sitting
(B) was seated
(C) had been sitting
(D) am sitting

d me.

12. The serenity of the place overwhelme
able

Replace the underlined word witha suit
word.
(A) Noiselessness
(B) Calmness
(C) Isolation
(D) Seclusion



A Plage Where
(A) :
(B)

bee
A 8 e
‘\\,..“.\. ire kt'm

-'\l'-u““'”.
() Grangy v
(D) *\I‘l:u'\'l

k Fill in With » Suj
He iy m.lh". thay l;‘l:lu |"'L'l“‘5i|il'll:
(A it — Wo inches
(B) of k
(C) in
(D) by

b

Which is the COrreg

oy rect Senlenge)
ANOne-eye( Person w
about the streets

(B) A one-eye
about the

Q8 seen roaming

d person wag s¢

en roami
Streets. roaming

(C) Theoneeyed Person w

ﬂSH“ o .
about the streets Cenroaming

(D) One-eyed person w

as seen roami
about the streets. S

» Ln.n\-'crl the given sentence into an
Togative sentence:

I will meet you tomorrow.

(A) Where will you meet me?
(B) How will you meet me?
(C) Will you meet me?

(D) When will you meet me?

I. The word ‘officious’ means
(A) self-important
(B) official
(C) serious
(D) enterprising

i Add a suitable prefix to form the opposite

e word ‘capable’.
(A) Uncapable
(B) Noncapable
(©) [1l-capable
(D) Incapable

-

Selectthe correct angy Mrgp,
The ship, with ity Crew
(A) were y

19.

(B) was

(C) were getting

(1 \\':l\'ht‘il‘lg
20. The antonym of

(A) Deep

(B) Artificial

(C) Apparent

(D) True

the worg Superfieiy) 1
15

21. The word vicissitude meang
(A) change
(B) stagnation
(C) uniformity
(D) stability

]
o

. Fillin the blank with the right option;
He was offended
(A) at
(B) for
(C) with
(D) towards

me unjustly,

-

(&
%]

. The antonym of the word weird is
(A) Normal
(B) Casual
(C) Tired
(D) Worried
24. ‘La Gioconda' (Mona Lisa) is
unique work of art.
Fill in the blank with the suitable article,
(A) the
(B) an
(C) a
(D) this

, . in a blue
35, The idiomatic expression, On¢e iy

moon, means
(A) rarely
(B) frequently
(C) regularly
(D) never
Please Turn Qver
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B-4
26. T‘he feg ks _
Notes ip lndi:“?imi“bl[”-‘ tor printing currency 26. SIACT G112 G B+ wifrg =e
1S 1n the hand of = kgl
(A) Ministry np o (A) Befrgr-aa
= |milr‘\ of I‘]TMI]LL‘ S ___T—_ 1 -
(B) Prime Minister's office (B) 21’1‘%:1‘.(’.1 e
. ™) frers qie-aa
f_( ) Reserve Bank of India (C) T"Ii : FT
(D) State Bank of India (D) GOb qANtF-ag
27. Who founded the Asiatic Society in 27. | s
Calcurra?
(A) Alexander Cuaningham
(B) John Stuart Mill
(C) William Jones
(D) David Hare
. . -5 . 51 f= ‘P“r:r wgie Te|
28. The Chief Justice of High Court is appointed 28. TEFNHA A4 Hora= & 2
by the (A) A4erargE amEl
(A) Prime Minister B] @At ame
(B) President (C) A3 (Firhe 2u= .C’TE'?["[&'.‘_Q =M
(C) Chief Justice of the Supreme Court (D) Fifemo-ag a1
(D) Cabinet
29. A person on a swing stands up. The time 29, @Al HEFAER 40 9= GRED S0 we
period of the swing =T A
(A) increases (A) TreF
(B) remains the same (B) 993 9@TT
(C) decreases (C) T2
(D) becomes zero (D) == 20
30. New Delhi, the new Capital of India was 30. SrTSs AR s i 7 &
inaugurated by Lord Irwin in the year T
(A) 1905 (A) 1905 #Hits
(B) 1911 (By 1911 A=
(C) 1931 (C) 1931 A=A
(D) 1947 (D) 1947 AT




31, th is o

ommissioner‘ofh: o 5
(A)_ Anil Chy
Bj SUShiIChandra
(C) SunilC‘handra
(D) AniIMtholra

1a (ag ] 1ef Election
u ¥
uhan o 2021)2

32 WhiCh

Sultg :
dscendeqd the an was

e Not a slave before he
(A) Qutub-ud-dip Aibak

(B) Ntutmish

(C) Alauddin Khilji

(D) Balban

33. A battery consists of 10 cells. each of emf
1 V. If 2 cells are wrongly connected, the emfof the
battery becomes

(A) 8V
(B) 10V
(C) 6V
(D) 12V

34. Who propagated the ‘safety valve theory’
and about which organization?

(A) A. O. Hume, about Indian National
Congress

(B) Lord Dufferin about Indian
Association

(C) Charles Tegart for Zamindari
Association

(D) Lord Macaulay for British-India
League

35. ‘Chipko Andolon’ is known as
(A) Feminist Movement
(B) Tribal Movement
(C) Political Movement
(D) Caste Movement

MTS5/21
31. June, 2021 R SIS A6 72 frfin
e 7
(A) it (BT
(B) 7 oH
(C) A°® b

(D) e AR

37, (@l TSI PACRIAT SR T B A

forem =11 ¢

(A) q";cﬁfﬁﬂ TEaw
(B) 2GS

1) waArsma H#E

(D) T«

13, = aibfre 1006 @E =i 7= b
wieepEes 99 29 1V 1w 216 @ wmeE Age
o, A 6IEE SieesEe 47 2

(A) 8V

(BT 10V
(C) 6V

(D) 12V

34, (@ 2fewE T GrED SeE oF 2hE

W'&v&.ﬁ-ﬁéﬂ.aﬂ@am@mw:@ﬁm

(B) =16 T, O T HRE
(C) BTt (B, S F=wied
(D) 7€ e, e Al T

35. it A festiea #fafoS |
M A ST
(B) ToGoY SITHE
(C) AETATES ST
(D) TS SITHE

Please Turn Ove
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6. Who was the editor of the nationalist
leWspaper ‘Sandhya’?
(A) Satish Chandra Mukhopadhyaya
(B) Bramhabandhab Upadhyay
(C) Sisir Kumar Ghosh
(D) Bhupendranath Datta

37. In West Bengal, Export Processing Zone
(EPZ) has started functioning at

(A) Raichak
(B) Falta
(C) Kﬂkd'ﬂ.'ip
(D) Haldia

38. Siachen glacier is located in the following
range :

(A) Karakoram
(B) Zaskar
(C) Pir Panjal
(D) Shiwalik

39. In terms of thermal conductivity (k) and
electrical conductivity (&), diamond has
(A) low kand high &
(B) high & and low &
(C) high k and high &
(D) low kand low &

40. Who wrote Ramcharitmanas?
(A) Hansena
(B) Harshavardhana
(C) Tulsidas
(D) Joydev

36, A TE STEGORE AERTEA T
= e
(A) 3= 5= It
(B) T=ams T
(D) SroEIY 78

37. #f*59a7% ‘Export Processing Zone'
(EPZ)-g3 Frfjafera 2+ 9k
(A) TA60E
(B) #=em
(C) sr=ans
(D) Z=maE

38, e TwaE FeEe sfefire seEs &
(A) TRNZEE
(B) =t
(C) Armsiam
(D) frnfere

39, ¥ sfeaEsl (k) 93 ofes +AFafEe
(8)-7 ANeArE 297 (diamond) 9F
(A) FE ke % 8
(B) S% ke s &
(C) ©F% k'S TH 3
(D) FE ke fas 8

40. IATAFA-4F I6RIS] 2
(A) =
(B) =H4
L ZEAT

(D) &3




15t Leader is known

7

ndian Nationg]
Man of Indig’
(A) Badruddm Tyabji

tE’:J Surcndr'«mau{ Banerjee

() Gopal Krishna Gokh 1l

(D) Dﬂlebhdl Nac i

oj

.42. Wha among the
md_ not belong
nationalism?

follow ing freedom fighters
o revolutionary (militant)

(A) Veena Das

(B) Santi & Sunit;
(C) Matangini Hazrg
(D) Kalpana Darta

3 ; e o B
-L_- .“—hdi was the Carlyle Circular and when
Was 1l 1ssued in colonial India?
(A) Adccn-ﬂ.npre\;r=_1pnl;n.:'.aig;nhcnn._s:
during the World War 1.
(B) A regulation to introduce English
schools after 18357

(C) A decree to restrict use of arms by
Indian citizens of colonial India from
1919 onwards

() _—'&d:a.‘f'ccl:n.ﬁpr-:\cntn;mnnall,g;-umt,:-ﬂ_e
amongst students in educational
institufions during the Partiion of
Bengal.

44. Gandhiji was influenced by
(A) Tolstoy
(B) Dickens
(C) Marx
(D) Lincon

45. JosephRobinette Biden .l_r..me%rhﬁcmdem
f the USA belongs to the political party named
(A) Republican Party
(B) Labour Party
(C) Democratic Party
(D) Nationalist Party

5 T 19199 22 Svffaries

_.JE-T Ui =
[
=ETE Wigd 999 AlNE <9
- -
(D) ¢=H TEiF I3 IFE A=A R
TS ASIAM ATWEE TEREW

TEa{EEe| (G U8 ST (ReE 3=

. e aeiee sEfeE=
LA e 2=l
(B) == o4
(C) T-._‘.?f:«"? =41
(D) Frmm =

45. Joseph Robinette Biden Jr. 2 S
TeIET su-wR FRee | ol cu o e
(A) RemafEem i

(B) @R =i
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I '6 According to the Census of India 2011,
whnic x 3 Sl . ' - .

ILI.] one of the following Union Territories had
the highest sex ratio?

(A) Chandigarh
(B) Puducherry
(C) Lakshadweep
(D) Daman and Diu

S .hm proportion of the Insurance Premium
Pd}-;t_hlu for Swasthya-Sathi Scheme is borne by
the State Government?

(A) 50%
(B) 75%
(C) 100%

(D) None of the ahove

48. The new station constructed and established
by India in March, 2012 for scientific research in
Amtarctica is called

(A) Priyadarshini
(B) Bharau

(C) Maitni

(D) Dakshin Gangotri

49. Which commodity tops the current list of
imported commodity of India?
(A) Gold
(B) Platinum
(C) Petrolium products
(D) Petrolium crudes

50. Which was the first incident of a British
official’s assassination after the revolt of 18577
(A) Assassinationof British official W.C.
Rand by Chapekar Brothers
(B) Assassination of British police officer
John Saunders by Bhagat Singh and
Shivram Rajguru
(C) Assassination of William Hutt Curzon
Wyllie by Madan Lal Dhingra
(D) Assassination of British police officer
Jackson by Anant Laxmin Kanhere

46, =T T 2011 SR, FEERe
@ @eITE SeE A TR AT AT ?
(A) BeE4E
(B) #Husa
(C) =il
(D) wiel ¢ WS

47, Afsaam Aaaian AvE-AA A e
{efmmr ¥ Wole AE Fada A% LAY
(A) 50%
(B) 75%
(C) 100%
(D) Ttz @e =@

48. W6, 2012 AMA (awifae SR T ) SIS
wrerEDam @ chem afmae 2F w4
(B) CIE )]
(C) Tardil
(D) W= sTal

49, STATS WEHEIES 2] HEE S04 W 08
Fle AT ?
(A) (A
(B) #ifb=rs
(C) cot@ffeams =
(D) S=fae oo =<0

50. 1857-99 *i(3 4u% (W JESHSS T
SIATEA T WO ARATS o] FR T

(Y STteen SrgaeE R e wg. B
S-cT TN

(B) @ire e e P arsows fabw «Fr
WA o - T

(C) sveerre fieg) e TRferr 4b e
Tfe- oz

(D) Wy wpme rEmE b s I
LI R -




1. T
by the

e Elpe
=1&Clon ¢ |
{_ummlﬁsinn 15 constructed
: structe

{A) \'Fic‘:‘PT‘E

Sid(_ﬂ
(B) Prime "

h"‘ill'l:-il:'_‘r
{[ ) Pr‘fﬁiden[

(D) Chief Justice of India

52, A heavy body

TR and a lighy
Kinetic energy. Then &ht body h

ave equal
(A) heayy body has greater
(B) light body has greater momentum.

(C) both have equal momentum,
(D) both have same

momentum

angular momentum.

53. Pure silicon at () K is
(A) semiconductor
(B) metal
(C) nsulator
(D) superconductor

54. The solar cooker works on the samc
principle as
(A) Bolometer
(B) Pyrometer
(C) Greenhouse
(D) Solar PV cell

55, Mansabmeans ‘
(A) A rank or office :
. & !
A military gener
Eg: A grant of revenue free land

(D) A religious text

i MTS))
51. B ahm ST e
(A) l'z''G‘I'-'.‘I’;-)]"l";;_".
(B) sueE
(7 Agefe
(D) =iarEa 24w el
52. @@ S A € G ¥ Twy wa
e e E T
(A) =1 T ults Samst v

(B) E=eF T Wik TACAH U |
() wios =AEAS F 2= |

(D) 77 o2 e samd 4|

53, 0 K & 4% &% HEem 29
(A) =d= e

(B) HTE
(C) =rEa<s
(D) wiefaaE]

54, GTaph cim A Tow fEfe I I A
(A) aTERELd
(B) *fEraifabE
47 farmares
(D) GT% SFEEETe &

55, Tooa Y =
(A) =W 2t st

(B) G
() frez ghmd
(D) #iferg

please Turn OVer
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S6. A boat
Passengers, [f
tank, how wij|

floating in a tank is carrying some

the passengers drink water from the

itaffect the water level of the tank?

(A) Tt will g0 down,

(B) It will rise,

(C) It will depend on the atmospheric
pressure.

(D) It will remain same.

57. Who said,“An eye for an eye will make the
whole world blind"?
(A) Martin Luther King
(B) M. K. Gandhi
(C) Nelson Mandela
(D) Karl Marx

58. The Hindi film ‘Padman’ released in 2018
was inspired by the true life story of
(A) Arunachalam Muruganantham
(B) R. Balki
(C) Akshay Kumar
(D) Bindeshwar Pathak

59. In the Constitution of India, ‘Protection of
Life and Personal Liberty' is guaranteed under
Article No.

(A) 21
(B) 49
(C) 73
(D) 370

60. How many new Government Medical
Colleges have become functional in West Bengal
during the last ten years?

(A) B
(B) 6
(C) 5

(D) 3

B-10

56, (T TR SPITS P G B
G141 (T TPl A, O T e S
3 A

(A) A5 08 A |

(B) Toa oA |

(C) AEmedT sireE Tofx fAe7 T3
(D) 9FE <=7 |

57, (@ AETES, (BT T9E (514 e Al
(A) wifbe aera fae
By a5, @, sl
(C) &= SJeEs]
(D) <7 73]

58. 2018 (% 5@ #A167] ‘wAtea B Fomn
Slama 7 o wikifee, BF w2

(AT Arunachalam Muruganantham
(B) R.Balki

(C) Akshay Kumar

() Bindeshwar Pathak

9. ©Ied AR wpn, S e i
HHTSE wiEwy afFe TEE @ dEn
AT 21
(B) 49
(C) 713
(D) 370

60. °15 7 Tue ARGHATT Fouf TH saw
(I IS Bfe] AT
(A) 8
(B) 6
(C) 5
(D) 3
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61. Judges

ges of Supreme Court retire
(A) 60 vears ¢ althe age of ‘
I-Iul r.‘:‘ l"L'.I“

(1) r )
D) 70 vears

62. When was the First

IT‘L|||-'| | . |
- . VWO SLTE 3 i
resolution taken? il I |

(A) 1956
(BY 1947 |
(C) =|l.i'_]_\. |

(DY 1951 |

63. The highest peak of the Eastern Ghats 1s
(A) Mahendragin |
(B) Nilgin
(C) Jindhagada

Dy Anaimudi

64. If the length of the filament of 4 heater 1s
reduced by 10%, the power of the heater will
(A) increase by about 9%
(B) increase by about 11%
(C) increase by about 19%

(D) decrease by aboul 10%

was part ol the “'_‘r'lllhn| ol

65. Which animal
Netaji's INA Flag?
(A) Lion
(B) Elephant
(C) Tiges
(D) Rhino

[ 70
fhl =t 2T 21 Pement
 For v [ L O j:‘ﬁr —
s, B
- =3
(A |USH H
H 147 HAF
5 194 -

63. A%a sdTaEz A

s ]
o
W
L

(A) '-".5-.-".":#

(B) T

(D) S=EaH

= e s o 10% =0 B

e Q% AEE

= || % e
() e 19% e

wrraie@ 10% ¥

() {Te] i
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66. Whichisthc Direct
(A) VAT
(B) GST
(C) Wealth Tax
(D) Excise Duty

Tax in Indja?

67. 100f
! Ratio of the rms speed and the most probable
peed for molecules in an ideal gas is

(A) V3:1
(B) 1:43
(C) V3:42
(D) V2:43

68. Researchers has discovered recently
antibody of which virus in bats from Mahabalaswar
cave?

(A) Nipah
(B) Ebola
(C) Covid 19
(D) Zika

69. Largest wind farm of India is located in
(A) Tamil Nadu
(B) Andhra Pradesh
(C) Maharashtra
(D) Gujarat

70. Which Medieval ruler introduced Ain-i-
Dahsala?
(A) Balban
(B) Feroz Tughlag
(C) Sher Shah
(D) Akbar

B-12

66. ST 2ATH 7 (@0 2
(A) VAT
(B) &
(C) =
(D) =%aa

67. v SOTHA SR Sl rms (9] «
probable (L4 S#1E 2=
(A) V3:1
(B) 1:v3
(C) ¥3:+2
(D) V2:43

68. sTEadl Arefieers wREAG
a7
) it
(B) A=
(C) @ifEE 19
(D) e

69. TATSA 76N APE Tesi (= |
(A) SIfEATEES
(B) SHA™C
(C) VZATE
(D) 9D

o2 o

By et ) B .
i AR el L L R R o R O



71. Who coined

rnight'? the slogan 'Sy,

araj is my birth
(A) Vinayak Damog
(B) Vasudey Balway
(C) Bal (.'J;mgudhm'
(D) Balkrishn

ar Sii\-';u'k;"
it Phadke
Tilak

a Ch.’lpek;u

72. Tbn Batuta came to Ind
rulers’ reign?

(A) Akbar
(B) Sher Shah

1a during which

(C) Muhammad Bip Tughlag
(D) Alauddin Khilji

73. A pendulum ¢lock that keeps correct time
on the earth, is taken to moon. It will then run
(A) at correct rate,
(B) 6 times faster.
(C) W6 times faster.
(D) V6 times slower.

74. Who among the following cricketers won
the Rajiv Gandhi Khel Ratna award, 2020?
(A) Virat Kohli
(B) Sikhar Dhawan
(C) Suresh Raina
(D) Rohit Sharma

75, Government of quia pais:rd the Act to
protect the human rights 10 the ¥
(A) 1990
(B) 1993
(C) 1995
(D) 2002

B-13

tora e BTSN T
71, ARSI Hiderg — 7 B

|
(A) T WIIE et
(B) AHDA 45749 rras
_{ey a= sy e

(D) A= BTaw

72, T ATEE (F¥ FENGA v o
A
(A) SEae
(B) T4 =
1e7 TV [ weee

(D) =eme e fefe

73. ’ffi_'_ﬂ*j"'ﬁ o T A1 (ATETAE T
bw o T 23, oE @b
(A) A= 798 oEq |
(B) 6 ©° %E 56104 |
(C) V6 e &8 55
(D) V6 @ &2 5o

74. 2020 FiER AR R KRR A o
wiea = FhEe

(A) faal R
(B) fraim mpaT=
(C) T e
(D) caffEs ==

75, ‘oA S S S S S
#ifel TR

(A) 1990 AT

(B) 1993 It

(C) 1995 A

(D) 2002 FIE

Please Turn QOver
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76. Pun

’ arbhava : -
of the foll aand Atrai are the distributaries

YWINE river
(A) Torsa
(B) Teesta
(C) Jaldhaka
(D) Raidak

mzjn_?ah“ was the hero of Rampa Rebellion of
(A) TLITI'_.:LI.ELITI Prakasam Pantulu
(B) Tiruppa Kumaran
(C) Puli Thevan
(D) Allun Sitha Rama Raju

78. What was the major symbol of Mahatma
Gandhi during his non- iolent freedom struggle?
(A) His looking glasses
(B) His charka (spinning wheel)
(C) His walking stick
(D) His cap

79. Neeti Ayog was formed on
(A) January 1, 2015
(B) January 1. 2016
(C) January 1, 2017
(D) January 1, 2018

e for distribution if

80. Sabooj-Sathiisa schem
nt/Government

Bicycles to students of Government
Aided SChUi')]‘ifMild!’H‘iﬁhh reading in
(A) Classes X toX
(B) Classes X 1o XI
(C) Classes X1 to XI1
{.DJ Classes 1X 10 XII
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76. réal & i 72 s A e o
(A) (EH]
(B) f&w!
(C) el

(D) =ARME

77. et faraea Wi (6 TerEe (1922-24)7

(A) TG ASER 2De

(B) T==E#l Fa1gl
i
(Y A (sl

(D) =10

(A) <12 =1
B EF 599
(C) o= EE
(D) &2 O

79, Tfe-=mEe e =
(AT ol s, 2015 SiEed
(B) =fwe SFEE, 2016 SifETS
(C) wwe SreaEre), 2017 S
(D) T Siaral, 2018 SR

80, A5 AT G-I S
srrarsiie /a6 S s
EE-E AT AR Aee = e

(A) 7w cufd e e e
(B) s el corn izt el
() e caffl e s
(D) s cff oo e e
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81. The largest g]
(A) Pindari
(B) Gangotri
(C) Siachen
(D) Hispar

acier of India is

82. NRC is now in form of a
(A) Draft
(B) Bill
(C) Act
(D) None of the above

83, Who 15 the author of Allahabad Pillar
Inscription?
(A) Rudradaman
(B) Harisena
(C) Samudragupta
(D) Banabhatta

84. Dry ice means
(A) Tceat—-23°C
(B) Ice at4°C
(C) Solid SO,
(D) Solid CO4

85. WhalisLhemaximumGovernmcmSuhsidy
that can be availed by a beneficiary under the
Gatidhara Scheme”

(A) Rs. 50,000

(B) Rs. 1,00,000
(C) Rs. 2,00,000
(D) Rs. 5,00,000

MTS2;
#1. ©ETET A4IE fewra 3o
(A ™ a1fg
(B) STCATd]
(€7 e

(D) FEeE

o= . A5
82. it ___‘___mml

(C) =Es

D) 'T:'-':l?:d’ r:g?;r.'_;]rﬁ Eril

83, aHEEAm ZefEs Iohel e
(A) FHYHA
Y R
(C) FqEed
(D) TR

84. ©% 9% 75
(A) —23°C Cavel T9%
(B) 4°C TamE ¥
(C) =m0,
_(p) = CO,

g, e s o ME
Emmﬂwﬂaﬂﬂﬁm
(A) 50,0005
(B) 1,00,000 5%
(C) 2,000000
(D) 500,000
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86,
» Article I8 of the Indian Constitulios

right 1o
(A) Equality

(B) Fi
(L)

o

EUdrantees (he

i'.lIl m
Freed m ol Relis

(D) Right 1o ( etitutional Remedi

87. Khajuraho, ‘the City {the Gods’ a UNESUA
World Hertape Sii
retermed in 1!--..'- 11d

A) Tbn Batum
B) Ibn Sis
() Abu Rihan Alberuni

(D) Omar Khawy im

RE_ ‘-.’\.'hn wrole Amul lamalvad;
(A) Rajaraja Chola
(B) Harshavardhana

(C) Deva Raya

89. The boundary line of Sundarban was
demarc .'lll;'lf 0y
Al Hamilion L'l_|||r_'|l

(B) Major William Toally

(D) Dampier and Hodges

90, The Nayankuara system is associated with
(A) The Bahmanm Kingdom
(B) The Chola Empire
(C) The Maratha Kingdom
(D) The Vijayanagura Empire

= AT T
qe AtfauAa 1B+ B eTA AR ST —

(X A

(H) w1

g
(D) "M¥«Siig™

T4 o A ‘-"I (ATEe wTETSS P9l érzﬁ_- =77
=1 &l o

(A) Ta9 TLE

(B) a7 75

(C) 7 ATH WEAT -

D)y GWE (AEle

(B) THa4a
(C) 79 oI

Py T a1

O Feaaraa e T k
89, HAWMAAT] AT ST i!.‘_‘.‘rf_gjs;:

(A) TGS JEa

S T S
e Tl a o

(B) 52
(C) %0
||}| -_II'-lJv.'?':_J! # "

=
- wl,

S H

. TR A (T AT ST T e i
(A) e are
(B) 5/ wEe

(C) 9 aren

(D) Tqem=em Hesre




91. Who has been n;
1_miiun \ien'}:EI;E::u[;'JE?'IIS:zirtlwht‘l':iimm” 'ﬁr "
Ol r the Tokyo
(A) Manpreet Singh
(B) Harmanpreet Singh
(C) P R Sreejesh
(D) Birendra Lakra

92. The Vallevof Kz -
92. The Valley of Kashmirislocated in between
the following ranges :

(A) Zaskar and Pir Panjal
(B) Zaskar and Karakoram
(C) Karakoram and Shiwalik
(D) Zaskar and Shiwalik

93, ‘Dandi March’ had inaugurated which
movement?
(A) Swadeshi-Boycott Movement
(B) Non-cooperation Movement
(C) Civil Disobedience Movement
(D) Quit India Movement

94, The largest IT company in India is (as of
June, 2021)

(A) Wipro

(B) HCL Technology

() TES

(D) Tech Mahindra

{ composed the song
' during the Partition of

95, Which Bengal poe
‘Ban eshechhe mora gange
Bengal?

(A) Rabindranath Tagore
(B) Lalan Fakir

(C) Kazi Nazrul Islam
(D) Mukunda Das
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91, = r,T_;II:-_'.-‘; ":‘Tﬂf’ﬂﬁﬂ:&.ﬂgrﬂmﬁﬁﬁﬁ
wrea wfEe TrTd w1 o Rrafe ﬂrt?:f
(A TwETS e i
(B) z@aaa fae
(Cy 19

(D) 4ItaE FEn

B[4,

= Tz

= P’
= c

'8 Aol my
& Aa1gE

=AM S AN

) =TS @ el

sirse o P

93. wifs wfEa’ @M AETASS SCwEAs
sirafes e femi
(A) FHR-TTE5 WM
(B) SRl S
e S S
(D) Sas B! [EHEH

94. &, 2021 e ST A IT o=t
=
(A) Wipro
(B) HCL Technology
(C) TCS
(D) Tech Mahindra

95, amerHd TN sy R T T
sz ome” st e S
(A) FREA AEN
(B) =E T
(C) MWW
(D) ™
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o The|Eﬂt1crtnfthcNarrnmluBuchuu.&nd“m”
is

(A) Anna Hajare

(B) Medha Patker

(C) Ramdev

(D) Binayak Sen

97. Who was known as the ‘Sher-i-Bangal'?
(A) Fazlul Haque
(B) Haji Muhammad Mohshin
(C) Maulana Abul Kalam Azad
(D) Nawab Salimullah

98. Which part of the world was the agenda of
Khilafat movement involved with?
(A) India
(B) Arab
(C) Iran
(D) Turkey

99. What was the original name of Titumir?
(A) Syed Amanullah Khan
(B) Syed Mir Nasar Ali
(C) Syed Amir Ali
(D) Syed Mir Muhammad Khan

100. Which of the following is not a unit of
distance?

(A) Light year

(B) Parsec

(C) Furlong

(D) liffy

96 ;.T;-‘ﬁ.-,r'] AEE WW" f?i_d;,_\?-f ﬁl‘ AL

(A) SRl ZETE
(BY gl ALTS

97. ‘eg-B-ATHET PP T TS !

(D) 7 FAFIEE

98, RS STHETR 15 Srwe) (P ST

oo (2AfErE CibieE, Rl 0TS T ¢

(A) =9
(B) =4
(C) 74
B7 T

99, Srgdas we A F fem e
(A) THER SITSIRE] AW
(B) e 3 WA o=
(C) Craw SEia S
(D) T AF T U

100. 57 302 @D TACTR G T
(A) STt
(B) A
(C) TEfk
(D) f&fe
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101. The Asiad Golg Medalic
away n_'npntl}-' at the age of 41-\1 ']'-:f'lh
(A) Pooja Rapj ¥

B':”“ﬂ' passed
015 hefshe?

(B) Dingknﬁingh
(C) Amit Phangal
(D) Shivaa Thapa

102. Pakist: solut;
Pakistan Resolution was taken on

(A) 16th August 1946
(B) 26th January 1935
(C) 14th April 1942

(D) 23rd March 1940

103. The Subaltern School of historiography
was spearheaded by -

(A) Shahid Amin
(B) Ranajit Guha
(C) Partha Chatterjee
(D) Goutam Bhadra

104. Dubbed as the Dakshina Ganga (Ganges of
the South), the largest river of South India is

(A) the Godavari
(B) the Cauvery

(C) the Penganga
(D) the Mahanadi

105. Who won the French Open in 20217
(A) Rafael Nadal
(B) Stefanos Tsitsipas
(C) Daniil Medvedev
(D) Novak Djokovic

MTS}H
101. SRE CRE Aok -
472 A% TACH TS TAC | @z 7y ;ﬁq et
(A) 7= 71 :
(B) fezamai B
(C) Sfars ieste
(D) Tzt «i=if
102. fFafie W St Afrgm o

(resolution) (19 ST ¢
(A) 163 91570 1946
(B) 2604 SR 1935
(C) 142 «fz= 1942
BT 2304 6 1940

103. & fwarsta 2femshr 75
(A) =fzs =ifam
2z 4] gq:r_’ﬁ.rﬁe GLE]
(C) = BIGE

(D) (54 o8

104. wm SfEred e T < T AR
sy | = < 23

AT (SRR Al
(B) e Al
(C) cel=sm=
(D) SRl

105. znzmtrﬂwﬁﬁamﬁﬁﬁm
(A) AR T
(B) @EwTA PR
(C) GffFe TS

B e e

please Turn OV¢r




N
MTS/2;

106. Indiais 4

(A) Union of states

(B) Federation

(C) Confederation of states
(D} Unitary

107. Which Muslim general conguered Bengal
in the thirteenth century?

(A) Timur

(B) Iqtiaruddin Bin Baktiar Khilji

(C) Chenges Khan

(D) Abdur Rahim Khan 1 Khanan

108. The binary equivalent of decimal number
4625 1s
(A) 100-001
(B) 100-110
(C) 100-101
(D) 100-011

109. What is the limit of the Annual turnover for
small enterprises?
(A) 5 crores lo 75 crores rupees
(B) less than 5 crores rupees
(C) Berween 73 10 150 crores rupees
(D) Between 150 to 200 crores rupees

110. What was the ‘Eka Movement'?
(A) A Religious movement
(B) A Peasant movement
(C) A Secret revolutionary movement
(D) None of the above

106, SA9 o
oL CER
(B) &R
(C) -_‘ITE HaE
(D) T

107, (T ATETR FeTe s AT O AHFH T
T
(A) T34
BY 2 e afenr feele
(C) oz
(D) EirEga e 4+ 2 AHH

108. Wi A2=1 4-625-97 qwla (Binary) &
=

(A) 100-001

(B) 100:110

(C) 100:101

(D) 100011

109, 7 ST A @CEEE A
(A) 5 @ (= 75 @16 Gt
(B) 5 3% 5= s
(C) 75 (A= 150 S Bl
(D) 150 2t 200 6 Bre

110, ‘g3 wicwEw S fEEe
(A) @it 4y S
B gl S W
(C) 93 cofteim Rad wmes
(D) ©oitaa ioe wn
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111. ‘Perseverance’

. : Tover was suce
landed by NASA on the surface of sl

(A) the Moon
(B) the Mars
(C) the Jupiter
(D) the Sun

112. Which Turkish Sultan introduced the
system?

(A) Alauddin Khilji

(B) Balban

(C) Ttutmish

(D) Muhammad Bin Tughlag

Igta

113. Vikramsila Bihara was founded by
(A) Devapala
(B) Dharmapala
(C) Rampala
(D) Sasanka

114. Which among the following novels of
Sarat Chandra vividly reflected the revolutionary
movement of India?

(A) Srikanta

(B) Pather Dabi

{C) Palli Samaj

(D) None of the above

115. The following river divides West Bengal
and Assam ;
(A) Raidak
(B) Sankosh
(C) Kaljani
(D) Chel

MTS1;
111. ‘Perseverance’ SCH e A
BT A AT W T Trme, wy -
(A) b1
(B) ==
() e

r

(D) 54

112, ot TR AAST XS %) 2wz s
(A) TETeHE e
4B] <4
(C) ZFTShH

(D) =W a4 BEEE

113. Framrie fuE o 2em e
(A) (A==
ABY o=
(C) A==
(D) *MifE

114. =2 W ETE erres [l
SRR =A% 2feway 7 4 Pk

(A) Srare

(B) #e wal

(C) =&

(D) Ttz @R F

115, Fsffe A0 oF5Em ¢ s 75
AT 2

(A) FIMEE

(B) ACH™

(C) FEEH

(D) =
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121. ‘Letters from

Burma® ic .
penned by 1158 a book

of essays
(A) Aung San Suu Kyj

(B) Rashbehari Bose

(C) Sarat Chandry Chattopadhyay

(D) Subhas Chandra Bose

122, Family Income Ceiling for Kanyashree
Scheme is not applicable if .
(A) the girl is physically challenged.
(B) the girl is an inmate of JJ Home,
(C) the girl has lost both parents.
(D) All of the above

123. When did Sakabda commence?
(A) 78 A.D.
(B) 78 B.C.E.

(C) 178 B.C.E.
(D) 178 A.D.

124. The names of Sidho and Kanho are
associated with which rebellion?
{A) Chuar rebellion
(B) Sannyasi rebellion
{C) Santhal rebellion
(D) Kol rebellion

125. Inter-state council is formed by the
(A) Prime Minister
(B) Parliament
(C) Chief Justice of India
(D) President

MTS/21

121. ‘Letters from Burma® FIGE &% s 35
ferare

(A) =te 7AW H b

(B) FEAEZE =%

(C) *AeHH Bral#i

(D) FerEpH <9

122, =fFsTan FIIAR TR 2eTRE’ omrm
iffrafas wwe SEFAE A 1

(A) == = ofead o

(B) == JJ Home-&3 /i =1

(C) F11Ts T2 A1 N TR 4|
(D) TR AIH0R

123, ==(0Fa 3 76 967
A&7 78 AD.
(B) 78 B.CEE.
(C) 178 B.CE
(D) 178 A.D.

124. Ty @ Ffea W (I FETES A= st
(A) paTe e
(B) 7y A=
+€7 Hleem REm
(D) @ e

125, wg-zne #fFEq 0e @
(A) eYFENER 9=l
(B) *Efao-ad aal
(C) ©rarsa 2 Reraefe wl

_(Dy afeifes am
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126. i ; .
i _The ratio of the diameters of moon and
arth is nearly

(A) 1:2

{B) 1 5

(E) 1:4

(D) 1:8
127. Sharavati Hydroelectric Project is located
n:

(A) Kerala

(B) Karnataka

(C) Maharastra

(D) Madhya Pradesh

128. Started in June, 2014 by the Union
Government of India, the ‘Namami Gange
Programme is associated with

(A) Worshipping the Ganga

(B) Canal irmigation from the Ganga
(C) River linking with the Ganga

(D) National Mission for Clean Ganga

129. Who was the Chief Guest of Republic
Day, 2021 in India?
(A) President of Sri Lanka
(B) PM of Bangladesh
(C) King of Bhutan
(D) None of them

130. A vehicle covers half the distance with
uniform speed v, and the other half with uniform
speed v,. The average speed of the vehicle is

W +v
(AY ==

V] + i-"z
B "y,
: ¢ L)
[C} V] + V2

ZVI Va
{DJ ‘L’] + Vg

126, b1 @A #Af4dr A G T |
(A) 1:2
(B) 1:5
(C) 1:4
(Dy 1:8

127. wifarqe] GEfape 2 (P wafgEy
(A) AT
w8y wfiom
(C) =g
(D) st

128. 2014 AA oF 26T SHS AAFILAA ST
SR’ 2aEiD 27

(A) SR S

(B) 51 (4T% 4D

(C) STz AL 7ol A

By AR +fEmEeE BreE

129. 2021 7TH STATEA #Teg 27 Swareis
syt wfele F fera ¢

(A) Semr agefe

(B) QIHANE 2=

(C) SoIw= Arer

(D) THTAE (AT 7

130, @3 =ife 1% wfewns @re =S 75
v, A T G FHAFS v, T, S st
1% WiE 20F

WtV
A5 2
Vi - ’lr'z
Bl
i b
[C] YtV
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131. Who was the
when Gandhijj
Movement?

(m\-'crnnr Gener

initiateq i al of India

sobedience
(A) Lord Hardinge
(B) Lord Minto

(C) Lord Linlithgow
(D) Lord Irwin

132. The s
32, pectrum of colo '

: i .
(CD) 1s due to SRR i

(A) Refraction
(B) Reflection
(C) Diffraction

(D) Polarization

133. The Partition of Bengal was annulled in
(A) 1905
(B) 1911
(C) 1901
(D) 1947

134. When was the University of Calcutta
established?

(A) 1911

(B) 1817

(C) 1854

(D) 1857

135. The power of a lens is +2°0D. The focal
length of the lens and its nature are
(A) 50 cm, concave
(B) 50 ¢m, convex
(C) 100 cm, CcOnvex
(D) 100 cm, concave

131. stifsfaa=izs STEIT) o MTSQ!
1 ni’l"‘?ﬂf‘}f'}

cemae fers e
(A) 716
(B) 716
(C) =g

AP 7E

132. F12 %% (CD)C2 1 266 o
B g T‘;Tl

okl
(A) 2fTAg9
(B) #fewae
(C) Toada (a7aa)

(D) 7

133. & FITA %% 7 T2
(A) 1905
BT 1911
(C) 1901
(D) 1947

134. Ffee fRwEm & A =z T
(A) 1911
(B) 1817
(C) 1854
D) 1857

135, g cer el +2:0D1 g
) e 2o =
(A) 50 cm, W
(B) 50 cm, 5
(©) 100 cm, B&
(D) 100 em, T
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2020 was

136. The
; Nabel Prize i i,
awarded to el Prize in Literature

(A) Louise Gliick
(B) John Dranow
(C) Peter Handke
(D) Peter Ackroyd

137. The freezing chest in refrigerator S
near the top because

(A)

(B)

©

it is convenient (o use.

it reduces cost,

it cools the remaining space by the
process of conduction.

convection currents are sel up.

(D)

138. A spring of spring constant k1s cut into two
equal halves. The spring constant of each half is
OW

(A) k

(B) /2
(C) 2k
(D) 4k

139. The velocity ratio of the hour hand and
minute hand of a clock is

(A) 1:12

(B) 12:1
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136. 2020 FCTA sifEre GiEn g

e fofe 2
(.9 Louise Gliick

(B) John Dranaow
(C) Peter Handke
(D) Peter Ackroyd

137. cafiraranTad 73 & (freezing chest) Sopy

14 WE

(A) Forw A% Fa |

(B) 0 FEET =

(C) P W A1 e e
HE4d &4

(D) #fase= @re tef =

138, Peit g k7 I PRI TEE 1§ G
2t e jemm Fek 47T T

(A) k

(B) ki2

(C) 2%

(D) 4k

139, wfers 951@ 61 & REwe $oe AewrE
AT T

(A) 1:12

(B) 12:1

(C) 24:1
(D) 1:24

is called as “His Superfluous

140.
Highness".
(A) The President

(B) Vice-President
(C) Governor

(C) 24:.1
(D) 1:24

(A) FReife
(B) Toapeifers
(L) TEEEE
(D) =A==

140,

(D) Speaker
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141. In India topogr

. aphical man :
, al ma
from the following ore .

Eanization -

published
(A) NATMO

(B) GS]

(C) SOI

(D) ZS]

142. Sandhyakar Nand

(A) Mauryas
(B) Senas
(C) Hussain Shahis
(D) Palas

1 was the cour P el of the

143. President of India is elected by |
(A) :
(B)
(C)
(D)

Members of the Parliament
Members of the State Assemblies
Directly by the people

Both the Houses of Parliament along
with the Members of the State
Assemblies.

144. The following coastal area of India was
affected by “Hudhud Cyclone” :

(A)

(B)

(C)

(D)

Chennai coast
Kerala coast
Andhra coast

Bengal coast

145. Kurnool-Kudapa Canal is taken off from
the following river :
(A) Cauvery
(B) Krishna
(C) Tapti
(D) Tungabhadra
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142.

TRIE WEPIAC T (NS SN
T walfoE T2

(A) NATMO

i0) (ISI

(C) SOI

e s - Pt L =

FETES v (e _/_;-'r_z—g;-iac’ s
e
et et

(A) (- =

iB) & FTEATE

4
(C) 3-’,_;"’5' CH Rt

=ATE2 %7 Has o=

A FTAR TR TG ARAILAG |

A

(B) 910 ZE A S Falid FeAlre 5T
(C) &=i% o 29 TIPS

Aa %4 NnN it

144. ©RTET WEERE Ioers TR
gefeTe’~a2 %1F1 ZEias ¢
(A) ’?':’T"f Tt
(B) (=3= o=
(C) == i‘”"ﬁ
(D) % &7F=
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8721

ame ofthe

lil‘;: r:;‘c:xur_qmg to WHO. the official D
sponsible for Covid-19 disease ®
(A) SARS-CoV-2
(B) Covid-19
(C) nCovid-19

(D) Corona Virus

and

47. 5 BET
The confluence of Bhagirath!

akananda is located at

(A) Rudraprayag
(B) Devprayag
(C) Haridwar
(D) Allahabad

48. Under which amendment of the [ndian
onstitution the voting age reducedto ] 8 from 21?7
(A) 60th
(B) 62nd
(C) 6lst
(D) 63rd

149. Central Rice Research Institute is located
1

(A) Cuttack

(B) Dhanbad

(C) Kanpur

(D) Coimbatore

uced by motor boat sailing

[50. The waves prod
n water are
(A) transverse

(B) Jongitudinal

al and transverse

~

46 WHO—ﬁa Ay Covid-l‘) @S & W
i Z H@ el L

. '5»‘\R5‘C0V'2
(B) Covid-19
(C) nCovid-19
(D) TR IRk

]

15735 TATET

<2 @ TETFTTA

wH @S-
a4

147.
(A)
B)
(C)
(D)

Zfaala-

£
GEARIAm-d

148, SEow AU (I ALGAIA AR (IR
R 21 (UF T 18 T L

(A) 607H

(B) 62T

(CY 61 H

(D) 63%F

149, @ET € SEE FAE SRES
£R) T
(B) 4=
(C) FWR

(D) QARG

150. Guib% A6 57 Ty Tgs wanefH [
(A) fotw
(B) WU
(C) o= ¢ wwpng

(C) longitudin
(D) stationary

(D) T
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151. Who wrote ‘Poverty and Unbritish Rule in
India'?
{A) Ramesh Chandra Dutt
(B) Dadabhai Naoroji
(C) A.O. Hume
(D) Amartya Sen

152. Mukutmanipur Dam is located across the
following river :
(A) Subarnarekha
(B) Dwarkeswar
(C) Barakar
(D) Kangsabat

153. Who had designed the first Indian National
Flag?

(A) Vicoji Rustam Kama

(B) Annic Besant

(C) Sarojini Naidu

(D) Sister Nivedita

154. Badland topography is an important
characteristic of the following region :

(A) Gulf of Kutch

(B) Sundarban Delta

(C) Konkan Coast

(D) Chambal Valley

155. Who was the Mughal emperor during the
Revolt of 18577
(A) Aurangzeb
(B) Mir Qasim
(C) Bahadur Shah II
(D) garfaraz Khan
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156, Solder used for joining metal parts together
18 an alloy of "

(A) Feand Cu

(B) Feand Zn

(C) Snand Cu

(D) Sn and Ph

157. Who wrote the drama Neeldarpan?
(A) Harishchandra Mukherjee
(B) Girishchandra Ghosh
(C) Dwijendralal Roy
(D) Dinabandhu Mitra

158. Dilatometer is used for the measurement of
(A) electrnical energy
(B) mechanical energy
(C) dimensional change in material
(D) thermal energy

159. Shanti Swarup Bhatnagar Prize is awarded
in the field of
(A) Peace
(B) Science and Technology
(C) Medicine
(D) Economics

160. The Sundarbanis declared as ‘Ramsar site’

mn
(A) 1987

(B) 1972
(C) 2018

157, Terofel w15 1A ABAIL
(A) ZFmi5H TR
(B) fAramioet a1
(C) fareE@E AH
D) e o

158. feamGIfaomE (Dilatometer) FeTa AT
437 Tt

(A) Sfe #f&

(B) uif =&

(C) = Srarere Afaada

(D) ©1Fm =&

159. =il SoAs (3 CFE (T 2, G 3
(A) *ifE
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(C) Bfwet
(D) @S

160. -G AT e’ R el
(A) 1987 Rt
(B) 1972 f2ita
(C) 2018 fasBiCs
(D) 2019 4751

(D) 2019
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66. Who was involved with the Ind

lnd"‘pc“dk‘llco a5

League'
(A) Deshbandhu Chittaranjan Das
(B) Mahuadev Govind Ranade

(C) Ananda Mohan Bose

(D) Rashbihari Bose

167. Artic : : ;
7. Article 21 of the Indian Constitution ensues

(A) Right to Religion
(B) Due Process of Law
(©) Right to Life and Personal Liberty

D .
(D) I rocedure established by Law

168. Name of the supercyclone ‘Yaas', was given
by :

(A) India

(B) Oman

(C) Sri Lanka
(D) Bangladesh

169. Mica producing district of West Bengal is
(A) Bankura
(B) Paschim Bardhaman
(C) Birbhum
(D) Purulia

170. Hydraulic press is based on
(A) Archimedes law
(B) Pascal’s law
(C) Reynold’s law
(D) Bernouli’s law

LA
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171. Khutba was

(A) asermonread in the name of the ruler
at Friday prayers.

(B) aroyal order.
(C) areligious decree.

(D) atax.

172. Although the final match between England
and New Zealand was a tie, England won the 2019
[CC World CUP. The reason was

(A) England was the host nation.
(B) England won SuperOverby boundaries.
(C) England won by toss.

(D) New Zealand lost for match-fixing.

173. Money Bill is finally determined by
(A) Prime Minister
(B) Speaker
(C) Leader of the opposition party
(D) President

174. The chopping of an onion makes one cry
because of the chemical containing

(A) Sulphur
(B) Chlorine
(C) Bromine
(D) Nitrogen
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171, 4w ol 2
) ST 21 o Aty sy o
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(B) ZTGE SIOA=E |
(C) #alra STl |
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gk Members"fmepub]icAccounmCummillee
are eleClEd by

(A) President

(B) Speaker

(C) The members of the both Houses of
Parliament through the method of
Proportional representation by single
transferable vote.

(D) Prime Minister

176. What is the missing number?

1,2,10,37,101, _ 2
(A) 320
(B) 226
(C) 206
(D) 402

177. Today is Monday, after 61 days it will be
(A) Wednesday
(B) Saturday
(C) Tuesday
(D) Thursday

178. The ratio of 6 inch to 4 feet will be
(A) 1:6
(B) 1:4
(€) B2
(D) 1:8

179. Exclusive Proposition: Which s the correct
option?
Many smokers get cancer.
(A) Cancer patients are smokers.
(B) Most smokers get cancer.
(C) Smoking may lead to cancer.
(D) Smoking is injurious to health.

175. ot SRTEHA Fhha A o o
(A) FBeAfEs
(B) ™rra-a3 al
€y Aoy TERICRA AT O3

Aty A ATe ey e
A1 |
(D) AAfersIaA BTl

176. ‘7 BfE® 2 @M A0 247
1,2, 10, 37, 101, i
(A) 320
(B) 226
5 206
(D) 402

177. W& GRRE 2 61 7 27 F 2@ 732
(A) g4am4
(B) feara

(D) Fz=ifeama

178. 6 2f® @
(A) 1:
(B) 1:
(€) 3
(B)s:

4 T TS T© 7
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179. STHT qNATAR WK 27 |
GURT A5d (@D Awe
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(B) e yueiiies i o1 |
(L] eI iR e «fe fire wia
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180. 'Schm).]' is related (o Sty
way as ‘Hospital’ is related to
(A) Medicine
(B) Nurse
(C) Doctor
(D) Patient

dent” in the same

181. Should seniority be

the o “titart
the promblion? nly criterion for

Argument: 1. No: It would be an injustice to
those juniors who are
deserving and suitable for
promotion than senior
counterpart.

2. Yes: Otherwise senior employees
may feel humiliated.

3. Yes: Senior employees are more
experienced and must be
rewarded for the same.

(A) Only ‘1’ is strong.

(B) Only ‘1’ and ‘2’ are strong.
(C) Only ‘1" and °3" are strong.
(D) All arguments are strong.

182. Manoj can type 100 pages of a report in
10 hours and Bobby can do the same in 15 hours.
They worked together for 5 hours. The remaining
work was completed by Lucy in 2 hrs. If they
received Rs. 2,400 for whole work, Lucy got

(A) Rs. 300
(B) Rs. 250
(C) Rs. 200
(D) Rs. 400

gentleman, Somenath said
the father of my daughter’s
Jeman related to Somenath?

183. Pointing to a
“His only brother 1s
father”. How is the gent

(A) Brother-in-Law
(B) Uncle

(C) Grandfather
(D) Father
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180. ‘School’ 7% ‘Studeny 23 ", M1,
A " Hospirg) gy
(A) Medicine
(B) Nurse
(C) Doctor
D) Patient

181. #F1fZ (Seniority) 7 2
_ 7 fr—
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oG s 1.7 5 9Ol Ty oy
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nr-l_‘:' A trainis 150m long, Itis running at aspeed
i 1 k‘_mf’h- A man is running at 11 kmph in the
ame direction as the train. In what time Will1Upass

|.|'IL‘ man?

(A) 18 seconds

(B) 1:—} seconds
(C) 500 seconds
(D) 4: seconds

185. ‘DUMA" is related 1o ‘Russia’ in the same

way as ‘ECCLESIA’ is related to
(A) Bhutan

(B)

(@)

(D)

Afganistan
Greece

Germany

13.6. Exclusive Proposition: Whichis the correcl
option?

If a person is rich, he has lot of influence.

(A) Alok has a lot of influence, so he is
rich

(B) If apersonisnotrich he does nothave
a lot of influence.

(C) Tapas is rich and so he has a lot of
influence.

(D) Poor people cannot have influence.

187. Given set (7, 77, 140) then follows
(A) (9. 88, 180)
(B) (6, 66, 120)
(C) (8, 80, 166)
(D) (4, 10, 160)

188. A building which is 64 feet high cast a
shadow of length 96 feet. The height of lelcph_unc
tower, which cast a shadow of length 180 feet,

under similar condition IS
(A) 80 feet
(B) 100 feet
(C) 120 feet

syfre (TG0 | ¥

(D) 90 feet

150 ml «afta “fera
h sferast Fon Gafa
1T e

184, als GER o0

= affe 11 kmp

41 kmph | 4
o (o

LA

W) 18 geconds
3

®) 19 geconds

1 ~_ geconds

(C) 300
11

(D) . seconds
11

{85. ‘DUMA’ f ‘Russia’ 731, @14 ‘ECCLESIA’

AL

(A) Bhutan

(B) Afganistan

(C) Greece

(D) Germany

o e 4N, TF S 2o ez

GTERGE AIhE @i A

(A) SETEA S S A2 w2 (3 4

(B) @It e 7% 4 7 23 S i HAS
#relq A 4l |

() Tl 4 @qe OIR O S
=7 |

(D) %y Ifea AeR S AT 1

186.

oS

187. (7. 77, 140)— &% (OB SPiRe F B3
Ao Taaf s o |

(A) (9, 88, 180)

(B) (6, 66, 120)

(C) (8, 80, 166)

(D) (4, 10, 160)

188. 64 75 T =l Afea 2w e 96 T 14
93 %06 180 F6 @3 GFRFTHR DI B (10
I A?

(A) 805

@) 100 6

(C) 120 70

(D) 90 B




189. Mohan takes
10 hours to do t::‘;ﬂflhnu.-s todoajob. | |
€ same joh. How Imlm i Ilumws
£ should it

take if Mohan and L;
ob? ~altu work together the sap
same

1
(A) 15 hrs,

3
(B) 33 hrs.

1
(©) 7-3 hrs.
=1
(D) 35 hrs,
190. Today is Thurs
will be A
(A) Sunday
(B) Thursday

(C) Friday
(D) Saturday

y, the day after 59 days

191. What is the missing number?
32.119:18, =19
(A) 3 .
(B) 12
(C) 5
(D) 1

192. 480 students out of 1500 are enrolled in
NCC. What percentage of students are not there in
NCC?

(A)
(B)
(&)
(D)

T0%
68%
73%
64%
193. A ladder is kept against a wall. The top of
the ladder touches the wall at a height of 270 cm

from the ground. The base of the ladder is 54 cm
away from the wall on the ground. Find the length

of the ladder.
(A) /53682 cm.

(B) 68164 cm.
(C) 75816 cm.
(D) /82547 cm.
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LAY afaam i
(B) gz=ifEam
(C) wFaE
(D) A

191, ‘7 fofEe 2 W Hedn oA e
32, 19, 8, 7
(A) 3
(By 12
(C) 5
(D) 1
192. 1500944 T 4808 NCC-E Aa=4g®
F7ATE | TS S T AUGS A ol ¢
(A) 70%
—~B) 68%
(C) 73%
(D) 64%

193. <=0 aamammwm1ﬂm
wefstel M (A 270 om Swe @eTEE =
@ MaHA AW meTE (XTF 54 cm @
oA | W2iod THel Fet

(A) /33682 cm.
(B) (/68164 cm-
~C) /75816 cm:
(D) /82547 cm.
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194, N
- ase
Straighy 5 kcr Started from ‘X’ point and walked

Straighy 3 kms west, then turned left and walked
Straighy 7 ms and again turned left and walkch
X' MS. In which direction is he from point

(A) South-Eag
(B) North-Eas
(C) North

(D) North-West

195, , )
Coine: qu many times do the hands of a clock
omncide in a day?

(A) 24
(B) 20
(€) 21
(D) 22

196. Should the number of holidays of
government employees be reduced?

Argument: 1. Yes: Our government employees
are having the maximum
number of holidays among
countries of the world.

2. Yes: It is a sign of British legacy
>  which should be carried
forward.
3. Yes: It will speed up work and all
pending jobs can be
completed well in time. *
4. No: Employees must be given
ample spare time to spend
with family.
(A) Only ‘1" and ‘3" are strong.
(B) Only ‘1°, ‘2" and ‘3’ are strong}{
(C) Only 2" is strong]/
(D) None is strong.

197. Given set (8, 3, 2) then follows
(A) (168,15, 6)
(B) (95,24,5)
(C) (63,8,3)
(D) (15,6, 35)
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196. Waﬂfﬁﬁmqﬁmvmﬁsm@mg
fes .93 off 8 771 CATTA ) HATT
gf% (AITH 41 |
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197. (8,3, 2)— % GO SpT @ DS AT
Taaf e 3

(A) (168, 15, 6)
(B) (95,24,5)
(C) (63,8,3)
(D) (15,6, 5)
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